IS SAE =3 (YH)

(20223 9& 23 22Y)

> OI=xf 7|12 £ (%)

7|1zt 9.22 9.21 S (bp) AHx Alg g9
2y 4.123 4.051 +7.2 0.770
o 0 FxfxAE : 293 7.2bp 1, 542 17.0bp 1, 1042 183 1
MY X|E OfE O] AE0|R0| IS 0| M0 oJO|YE BH RS HOIS K| 22IS XS
3y kS 4003 +134 1019 Ixoz olasizicte 23t O|X|E BEY 7120, B2, A2, 290 SYLHE 50bp 22| O
o2 B O|M (22 XIS5HD O] ZHY7HH SHELA| K|%
_ Q0| 27} 9t S Sl 47| AHE BARSIACHS O/XIS CHRIBIA 27| MK 247t A3telof
>y 3.937 3.767 +17.0 1356 xery) 22 qEZo0| o A AEHO| ZIIMBK AL HYLCE03% o)
o I3H| {7t WTI HiE = u$83.49 (HIECHH| 0.66% 1)
10y 3713 3532 +183 1301 ayxjotol SOl o SUO| LhaiTl FH2E|, EUZF BAIOFO] CheH 8Xt RITHOY BholtEIA
QIbe 323 Do A HE
30y 3.642 3.505 +13.7 2.026

X Swap spread : (2Y) 41.28(-0.08), (3Y) 14.99(-5.14), (5Y) 8.35(-1.63), (10Y) 4.61(-2.83), (30Y) -32.26(-1.82)

> HE A 7H4SE(bp)

LA BSE) at7| LAA FEZE 9.22 9.21 S El(bp) X
HE (Aa2/AA) '31. 10 T10+25 1.750 T10+41 (S+60) T10+42 (S+61) A1.0 T10+18 (S+37)
> CDS Spread(5'd, bp)
YA ESD) 9.22 9.21 U H|(bp) Ax ¢l %H|(bp) AXH ks
HE (Aa2/AA) 45 40 +5.0 21 +24.0 21 56
KEXIM (Aa2/AA) 43 40 +3.0 22 +21.0 21 57
x &2 5L} M 5y CDS : &M 21,09 17.455 / 21 '17.09¥ 75.82 (YT X/ 1X| '08.102 692)
> Fa3 g U £t
=7} 9.22 M| H X H|(%) == 9.22 Y| H X H| (%) Azt ok
LS 1,411.30 +15.5 +18.6% Dow 30,077 A107.1 A17.2% _
o ZA|: 98 FOMC 0|20 = ¥FEO| nZE 71
0, (o)
¥/U$ 142.39 A7 +23.7% NIKKEI 27,154 A159.3 A57% o ojojzt 2102 OfANEBIA SF2 Op2t
U$/£ 1.1261 A0.0 AN16.8% FTSE 7,160 AT78.1 A3.3% - C}2 035% !, S&P 0.84% |, LFAEF 137% |
us$/e 0.9836 200 A13.5% STOXX 3,427 A647 A20.4%
W/E 1,384.79 A30 +2.9% KOSPI 2,332 A149 A217% |2 B2 : 0 223t 98 Fa= Fa| 2y, o)
Hao| A|&H| Q! ZhM| RS (e oIHAL X
WY 9.91 +0.2 A41% SHCI 3,109 A83 IRVECH | A S HESHE g AISE=S
ZCHH| 0.02% &STt 111.254)
CNY/U$ 7.0781 +0.0 +11.4% HSI 18,148 A296.7 A22.4%

> F2 OME U

-s&p 22E 0|2 H=Y PMI9.23), T T2, AHHAEE AH|X}T|CHX|, Al EHO00[(9.27), MBA FEHEX} A X|2=(9.28), Al A P+ H T H(9.29)




